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37 Which diagram best represents the relationship among integers, rational numbers, and whole
numbers?
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25 The Giameter o the handle of  softbsl bat is 12 inches. What isthe length n nches ofthe
dometers of 8 ofthese bt handes?

A sin.

el
B s3in.

3
c oZin.

D 14in.




image6.png
State of Texas
Assessments of
Academic Readiness





image7.png
3
23 Stephanie has 3; bags of soil to put in her garden. Each bag of soil will cover 125.3 ft2. How

many square feet will Stephanie be able to cover if she uses all these bags of soil?

A 469.875 ft?
B 375.225 ft?
C 407.225 ft?

D 418.502 ft?
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30 What is the value of the expression -9 x 2.2?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.




image9.png
Grades 6-8 Mathematics

[ER(CICIOIOIOIOIOISIONO)
ICICICICICIOIOICIOIO)





image10.png
1 Tareq pays $22.10 for 2.6 pounds of salmon. What is the price per pound of the salmon?
A $57.45

B $8.50

c sw0

D 2470
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12 José paid $47.00 for 4 movie tickets. Each ticket cost the same amount. What was the cost of
each movie ticket in dollars and cents?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.




image12.png
1 A recipe says to use 3 cups of flour to make 48 cookies. What is the constant of
proportionality that relates the number of cookies made, y, to the number of cups of flour
used, x?

A 06

B 48

c3

D

16
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24 Chloe s 5 feet 4 inches tall. There are 2.54 centimeters in 1 inch. What is Chloe's height in
centimeters?

F osesacm
6 1372em
H 16255cm
3

152.40 em
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10 Some doctors recommend that men drink 3 liters of water every day. There are approximately
29.6 milliliters in 1 fluid ounce. Which measurement is closest to the number of fluid ounces in
3 liters?

89 fl oz

101 fl oz

10 fl oz

“ I e m

33floz
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19 The distance between two town:
5 miles.

120 kilometers. There are approximately 8 kilometers in

Which measurement is closest to the number of miles between these two towns?

A 75mi

B
c 192m
D
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2 Figure JKLM i similar to figure PQRS.

M L

Which proportion must be true for these figures?

EERE S
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39 Mr. Ortiz used similar triangles to make a design. Which statement about the triangles in the
design must be true?

A They are the same size and shape.

B They are the same size but different shapes.

C They have corresponding angles that are congruent.
D

They have corresponding sides that are congruent.
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4 Quadrilateral KLMN is similar to quadrilateral WXYZ.

K

N M
Which statement about these quadrilaterals must be true?

KL _wz
WX = kN
G Angle NKL is congruent to angle ZWX.
Ko
Yz~ zw
3 Angle NKL is congruent to angle XYZ.




image19.png
27 A group of students formed a circle during a game. The circumference of the circle was about
43.96 feet, and the diameter of the circle was 14 feet.

Which expression best represents the value of 77

7
€ H%
b 14
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3 Bailey will roll a number cube and flip a coin for a probability experiment. The faces of the
number cube are labeled 1 through 6. The coin can land on heads or tails. If Bailey rolls the
number cube once and flips the coin once, which list contains only the outcomes in which the
number cube lands on a number greater than 42
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€ 1, Heads
1, Tails
2, Heads
2, Tails
3, Heads
3, Tails
4, Heads
4, Tails
5, Heads
5, Tails
6, Heads
6, Tails

D 4, Heads
4, Tails
5, Heads
5, Tails
6, Heads
6, Tails
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8 Jack tossed a coin three times. Which tree diagram shows all the possible outcomes of the
coin landing heads up or tails up?

Heads

Heads < Tails

Tails < Heads

Tails <Tai|s
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32 Atan assembly 7 out of the first 10 students who entered the gym were carrying a backpack.
Based on this information, if 700 students were at the assembly, how many students could be
expected to be carrying a backpack?

Record your answer and fil in the bubbles on your answer document. Be sure to use the
correct place value.
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31 A study of a population of 1,200 frogs revealed that 12 out of every 180 frogs in the
population have spots on their back. Based on the results of this study, how many frogs in the
population do NOT have spots on their back?

A 80
B 168
C 1,280

D 1,120
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26 Abag contains:

5 red marbles
6 blue marbles
3 green marbles
4 black marbles
2 yellow marbles.
& marble will be drawn from the bag and replaced 100 times. What s a reasonable prediction
for the number of times a green or black marble will be drawn?
14
&5

7

“zaom

35
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17 The spinner shown has eight congruent sections.

w

The spinner is spun 120 times. What is a reasonable prediction for the number of times the
spinner will land on an even number?

75

45

(g}

15

40
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40 The spinner shown is divided into congruent sections that are labeled from 1 through 7.

1F the spinner is spun one time, what is the probability of the arrow not landing on a section
Iabeled with an odd number?

JSTRNTY

Sle ale
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6 The net of a square pyramid and its dimensions are shown in the diagram.

101

What is the total surface area of the pyramid in square fest?
EES
60 2
2042

“zoam

624 2
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29 The net of a rectangular prism and its dimensions are shown in the diagram.

7.50n.

7.50n.

3in.

3 in.

11.50n.

11.5in.

What is the total surface area of the rectangular prism in square inches?
A 143.25in2

B 241.5in?

C 258.75in?

D 286.5in?
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50 Jeff bought a bottie of water for §2. He also bought some hot dogs for §3 each. Jeff did not
‘spend more than $14 on the hot dogs and the bottle of water. Which inequality can be used
to find h, the number of hot dogs that Jeff could have bought?

3h-2<14
3hi2<1e

3h-2>14

“zo m

3hi2214




image32.png
7 Lawrence’s father gave him 200 baseball cards. Each week, Lawrence purchases 25 baseball
cards to add to his collection.

Which inequality can be used to find w, the number of weeks after starting his collection when
Lawrence will have more than 750 baseball cards in his collection?

A 200w +25 < 750
B 25w+ 200 < 750
C 200w +25 > 750

D 25w+ 200 > 750
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20 Which number line best represents the solution to the inequality 3.3w -9 > ~22.27
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13 Which situation is best represented by the following equation?

asw 4 123.9¢

753.95

A Erica paid $753.95 for dance classes. She paid 2 $123.95 registration fee and $45 for each
week she was enrolled in the classes. What is w, the number of weeks Erica was enrolled
in dance dlasses?

B Erica paid $753.95 for dance classes. She paid a $45 registration fee and $123.95 for each
week she was enrolled in the classes. What is w, the number of weeks Erica was enrolled
i dance dasses?

© Erica and her sister paid $753.95 for dance classes. Erica paid $123.95 for each week she
was enrolled in the classes, and her sister paid $45 for each week she was enrolled in the
classes. What is w, the number of weeks Erica and her sister were enrolled in dance
classes?

D Erica paid $753.95 for dance classes. She paid $123.95 for each week she was enrolled in
the classes after using a coupon that gave her $45 off the price per week. What is w, the
umber of weeks Erica was enrolled in dance classes?
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33 Which situation can be represented by this inequality?
1.25x-6.50 > 50

A Stefan spends $6.50 on supplies for a lemonade stand and sells each cup of lemonade for
$1.25. What is x, the number of cups of lemonade Stefan must sell to earn a profit of
more than $50?

B Stefan has a balance of $6.50 in his savings account and deposits $1.25 each week. What
is x, the number of weeks Stefan must deposit $1.25 in order to have a balance of more
than $50 in his savings account?

C Stefan earns 1.25% interest on the balance in his checking account and has to pay a
monthly charge of $6.50. What is x, the balance that Stefan must have in his checking
account in order to have an ending balance greater than $50 after interest and fees?

D Stefan charges $1.25 for gasoline plus $6.50 per hour for mowing lawns. What is x, the
number of hours he has to mow lawns to earn more than $50?
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33 Which situation can be represented by this inequality?
120 < 12k +29

A Felicia has 12 buttons in her collection. She will collect 29 new buttons every year. Felicia
collects buttons for k years. For what values of k will Felicia have at least 120 buttons?

B Felicia has 29 buttons in her collection. She will collect 12 new buttons every year. Felicia
collects buttons for k years. For what values of k will Felicia have at least 120 buttons?

€ Felicia has 29 buttons in her collection. She will collect 12 new buttons every year. Felicia
collects buttons for k years. For what values of k will Felicia have at most 120 buttons?

D Felicia has 12 buttons in her collection. She will collect 29 new buttons every year. Fel
collects buttons for k years. For what values of k will Felicia have at most 120 buttons?
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23 1fx =6, which inequality is true?

A 53> 10

“3-sx<-14

o

1-20>13

°

2-x<-3
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3 If x = 14, which equation is true?
A 3(20-x) =44

B 3(12-x)=6

]

2(x-3)=22

D 2x-3=22
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38 Which equation is true when k

F 3k-11=-34

G -53+4k=7
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19 An isosceles triangle has base angles that each measure 42°. Which equation can be used to
find 2 the measure of the third angle of this isosceles triangle in degrees?

A 84:22-180

84tz

50

B
C a2+22-180
D

4242=180
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24 The angle measures of a triangle are shown in the diagram.

What is the value of x?
25
20
10

“ T o m

28
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12 The sum of the measures of angle M and angle R is 90°.

+ The measure of angle M is (5x + 10)°.
+ The measure of angle R is 55°.

What is the value of x?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.




image43.png
18 The manager of a mu:

store surveyed a random sample of customers who shop in the store
about their favorite type of music. The table shows the number of customers who selected

Favorite Type of Music

Based on the information in the table, which inference about the favorite type of music of all
the customers who shop in the music store appears to be valid?

They are certain to select rock or pop music.

They are less likely to select country or rap music than rock music.

They are more likely to select country music than jazz, classical, or rap mu:

“ o m

They are certain to select any type of musi

other than jazz music.
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40 Parker conducted a random survey at the mall to determine the number of songs in each
genre that were downloaded by 40 students. The results are shown in the bar graph.

Music Downloads

10
KEY
[ siris
W eovs

Country Rock
Genre

Number of Songs

oN & o ®

Based on the information in the graph, which inference about the general population of
students is valid?

Girls like country music more than all other genres combined.
More girls than boys like rock music.

Boys like country music more than rock music.

“ T o m

Boys like rock music more than girls like rap music.
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38 A refrigerator is priced at $525.50. There is a 6% sales tax rate. What is the sales tax for the
refrigerator in dollars and cents?

Record your answer and fil in the bubbles on your answer document. Be sure to use the
correct place value.
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30 A doctor has an annual income of $152,125. The income tax the doctor has to pay is 6%.
What is the amount of income tax in dollars and cents that the doctor has to pay?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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22 The price of a DVD is $24.00 plus 8% sales tax. What is the sales tax on this DVD in dollars
and cents?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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43 Felicia earns $800 a month. The table shows her monthly budget.

Monthly Budget

College savings.
Car payment

Cell phone;
Clothes

Which statement is supported by the information in the table?

A Felicia spends 10% of her monthly budget on clothes and food.
B Felicia spends 25% of her monthly budget on her car payment.

© Felicia spends 20% of her monthly budget on college savings.

D Felicia spends 50% of her monthly budget on her car payment and cell phone.
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20 In Oscar’s monthly budget, each category is assigned a certain percentage of his monthly
income. Oscar’s monthly income is $2,250.

Monthly Budget

e

Savings
House payment

Telephone

Car payment

Car insurance

Life insurance

Which statement is NOT supported by the information in the table?

Oscar puts $360 of his monthly income into savings.

I3

G Less than $900 of Oscar’s monthly income is for his house payment and life insurance.
H Oscar budgets $485 of his monthly income for telephone, utilities, and emergencies.

J

More than $530 of Oscar’s monthly income is for his car payment and car insurance.
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28 Emily created the net worth statement shown.

Net Worth Statement

Checking account
‘Automobile (currert value)
House (current value)
‘Savings account
Tnvestments

Credit card debt

Student loans.

Personal loans.

Based on the information in the table, what is Emily’s net worth?
F $107,550
G s87,025
H $20,525
$128,075
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29 The table shows Peter’s net worth statement. Assets are shown as positive numbers, and
liabilities are shown as negative numbers. The value of Peter’s house is not given.

Net Worth Statement

House (current value)

Checking account
Credit-card debt -$3,400

Automobile (current value) $16,900

Student loans -$16,300

Investments $4,500

Savings account $1,200

Peter’s net worth is $101,800. Based on the information in the table, what s the current value
of Peter's house?

A $58,600
B $78,300
€ $98,000
D $82,100
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7 Rita has a loan of $45,580. This loan has a simple interest rate of 4% per year. What is the
‘amount of interest that Rita will be charged on this loan at the end of one year?

A $47,403.20
B 11,395
c s8232
D $1,823.20
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12 Leo wants to buy some shoes. He found the shoes at three different stores for a price of $35.
The stores are each having a sale.

 Store s e 5% ftheprice o te s,
* Store Y is offering $5 off the price of the shoes.
- Store 21 ofteing . dcaun f th e of the shocs.
Wi atomentsboutthe sl pric o hse shos s re?
Store X has the best sale price of $20.

Store Z has the best sale price of §28.
Store Y has the best sale price of $30.

“zo

Store Z has the best sale price of §7.
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29 et A represents rational numbers. Set B represents integers. Which diagram shows the
numbers placed in the correct sets?

Seth Seth

SetA
71

win
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